2,1
O

+ ny
- o|27|7|22] O|X| Z+0] Okl

Al 7|8t 9|2 7|7| &2] of 2 ADIESH 217

717] HIO|E{Z BHH
217181 =5 El, 2|, H|7]| X
Life Cycle Care

L
-

.....
HESHH

| |E |§

Q . 108 v
Q) cie
%+ w350,102,000 [ 5%
5] 9
HRICHH| : +12%

CIXIEE

WZSO 102 000

=2 620E 2171 10K Bl 8 2| X E

uuuuuuuu

kg

=PEENETE
C|X|E %M
@ . 85%
x| =] i By J T o = ) ; : — — - ,
||_ E?H-F! 11x|_-r' Il.:': le} '_JT! ,::_:! 72 E‘ST! -__4:! 'I:__IT! 112 an E'ng H
J .

2 A offot|

= HI2 QRIE &1,
01| ofl = O [N| 2!

EY3 43| LiYat
Sra=Ql $a[HIS KA = 2% =
@% kkomkkom.com




